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Vertical Division

Name:

Solve each problem.

1)

70[782

4)

70[140

7)

60[402

10)

60(668

2)

60[123

5)

60(720

8)

20260

11)

70[630

3)

30(754

6)

90[450

9)

40(464

12)

70[378

10.

11

12.

Answers
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Vertical Division

Name:

Answer Key

Solve each problem. Answers
1 11r12 2) 213 3) 2514 . 11112
70[782 60[123 30[754 |
0 0 0 2 213
78 12 75
70 0 60 3. __ 2514
82 123 154 , 5
70 120 150
12 3 4 5 12
4) 2 5) 12 6) 5 5
70[140 60720 90[450 ;
0 0 0 ;. 6142
14 72 45
0 60 0 8 13
140 120 450 . 11124
140 120 450
0 0 0 10. 11r8
7) 6142 8) 13 9) 11r24 9
60[402 20[260 40[464 N
0 0 0 2. 5128
40 26 46
0 20 40
402 60 64
360 60 40
42 0 24
10) 11r8 11) 9 12) 5128
60(668 70(630 70[378
0 0 0
66 63 37
60 0 0
68 630 378
60 630 350
8 0 28
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# Vertical Division Name:

Solve each problem. Answers
2 6 r42 13
12 11 r24 25r4 1
5 11 rl12 2r3
2.
1) 2) 3)

70[782 60[123 30(754 s

4) 5) 6)

70[140 60[720 90[450 0.

7) 8) 9)

60[402 20[260 40(464

ifi 1-9 |89]|78]67[56]44[33[22[11] 0 |
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